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1 |5 &P FHK TR g5 4] 36.5
2 BB i 'R FERIRC 4] 37.9
3 |5 [IuH EA HFRC 4l 44.9
' ENE SSPN {5 MA 4] 52.6
S EENER HATRC 4] 53.9
6 |H /T BN HIE e i 57 4] 58.7
T 1FE S R IR R s 51 0.2
8 | |IRVE KKEH |FFHRC 5] 5.6
9 |H [V E# HHRC 51 7.7
10 [B [EEETT FHK  PrHRC 5/ 9.0
11 |8 | FEARES A e 5] 17.7
12 |5 iR AR HATRC 5| 19.8
13 |55 |AH Fb SR BT 5[ 25.6
14 |5 | Kk £E HFE F 5T 5] 25.8
15 |15 [fmsr [EAS i FMA 5] 27.5
16 |5 |iEH f/EE Rl e 7 et 5| 27.8
17 15 51 KB PRHRC 5] 28.8
18 |5 [EF SEX HHRC 5] 29.5
19 |58 /il BF DHYL 5] 31.2
20 |55 |E{ETHIE A EMA 5] 32.6
21 |5 |k ZRF0 PHY< 5] 35.2
22 |5 B I AHIC 5| 36.1
23 |5 /hEF SEFH HARC 5[ 39.0
24 | B |[=ZF FK AHIC 5] 41.3
25 |55 | A8 Bk (T S = 7 el 5] 42.7
26 |F |[EJE fhue AIC 5] 42.8
27 | % /B B TS == 7 bk 5[ 43.0
28 | /B #EA BHIC 5| 43.1
29 [BB [[iAS 2R3 (AT 7 s 5| 49.1
30 |5 |5 H i EMA 5| 49.8
31 [5  |NgE KH DL 5| 50.3
32 |5 | AJL YL 5| 54.2
33 |5 [HrE —i0» IS R T 5 55.5
34 [} TN EKR i EMA 5| 55.8
35 |5 | EZK AHIC 5] 59.9




36 |5 |RyL RIS 2= 7 el 6| 12.3
37 |55 [WEpE 7=k P 6] 25.3
38 |5 Uh =% BHIC 6] 27.4
39 |5 R AL ACERE R = 7 et 6| 35.6
40 |55 |gER R B |AiC 6/ 39.0
41 |5 BN B BHIC 6] 41.7
42 |55 |JHHE HESE AHIC 71 1.3
43 |5 |&8 #BFH PHY< 71 2.5




